





AL A4Sl SatA A A= FAT U AlS WA A4tst
A WAL uhFof] ALY ojuff 257l BSE
71 WA ALY whebA o 7L o, 2 ek A E AL
.




o5 A9 Art A2 HEE AS I2AL.

%+(0,Ii%)x 15-1%
7
@
®

@




7
2

® 0.25 +

@0.25 X g

1

+3=
2

® 0.25

® 0.25+35

2
7

@ 0.25x

(Sl o
X
— <

M~ A~ D=

X

I I

[ o\ B Sl e\ B R

@ 0.25 x

X

X

| b~

— | <

1
+35 =

1
T4

®0.25+3.5




& WA £48 242 AAM Atd o, & 25 24

Ap2]of| A HE-Z Y sto] FohA 2,

S
3§ +0.7

@ 5.1 @)5.2 ® 5.3 @ 54 ® 5.5

3; +0.7=3.625+0.7T=5.17--- > 5.2







SRR

9
9=
O 10

ol 2

oL
3
TEAQ.

9

2
@ 100

S FotEy 7.21 o] =S

9
®3E

QY. o

03100

©o
=]

% o]

&
4
rie




9.

Zol7t 256m 3l AE e,

2 Zoto] B4

o\ AAE o A2E BE

O 25=1} @ 28=9f ® 30=9f
@329t ® 3550
2 256 2
256+ — = 56><—5:32 (=4})

25 100~ 2




Yt WA 4

s}

Pkl g

5]

CEd U7HE 0.3 kgo] Q.

gt

i
[

Tod

=

@ 24 Q@uA @ 1wH  © s

@ 1071

0.3 =4.2+0.3 = 14(7h)

1

4— +
5




3
14-1 +0.5x24
O 4= @ 5= ® 6= @ 7=

3 7 10 24 42 2




12, o3 5 AT G2 47 Yol &2 IAHA ALT 5=
ol AUY7?
2 1 2
- =04 1.5+ - 1-=+0.
@5 02 @ 15 1 ® = 0.8
@09+? ® 4= +17

D04+04=1
@15+025=6
®14+08=1.75

@ 0.9+0.2857--+ -+ o] Yol %] g 2

09+ 2& 4% Uehiol AE 5 g

®425+1.7=25




13. tYae AAtstA L.

S
g
O
¥
®
t




14. 742, A2, 47072 AH2bg Qo] 156 474X 9] 247t 72t &
MR o b sheln U @+0+@9 WO YHE AL
27

2
1
s]o|1]3
3/1]0|©
@® 6 @ 7 (@)8 @ 9 G 10

Ll I Ol TSN O]
N |~ | W

|~

W N|—

FH
rr

=N W
N | =[] W
IS GUN I NG

W ||~

=2 0=2 ©=14




15. o5 I8 Zo] AANAYE 272 el

e Ze] obdl e Ralgiy7t

® @ ®
@= @=
i




